
8

8

8

MS166 x

MS201 x

MS006 x

PS001-130 x 8

M8 Nyloc Nut
(FN006) x       

M8 Washer
(FW002) x      

M8 x 65 Hex Head Screw
(FB003) x    

M8 x 35 Coach Screw
(FS030) x    ?

?

?

Life Size (A4 Paper)

M8 Plastic Cap
(PS045) x     ?

16FB003 (M8 x 65) x

FW002 (M8) x

FN006 (M8) x

FS030 (M8 x 35) x

PS045 (M8) x

(1:1)

40

24

FS030 (M8 x 35) x 8

8PS045 (M8) x

13mm x 2

= 4Kg

Manufactured by Rhino Products Ltd in the United Kingdom

4 Bar "AB" Fitting Kit, Delta BarsAB4D_e ( 1 of 2 )

;­

I 

IU~ _ _ __J~ , . ~ u l 

0 

0 

1 X 

w======~ 



Manufactured by Rhino Products Ltd in the United Kingdom

4 Bar "AB" Fitting Kit, Delta BarsAB4D_e ( 2 of 2 )

1. 2. 3.

4. 5. 6.

.......... 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet3



